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Table 1: Notations and Explanation

Explanation Notation
The player who makes the first offer 1
The second player 2
Discount factor of ¢ 0;
Discount factor of the weak player 2 0w
Discount factor of the strong player 2 s
Discount factor of the inactive player 2 9%
Player 2 whose discount factor is d,, 2w
Player 2 whose discount factor is o, 2
Player 2 whose discount factor is 0}, 2/
The possibility of 1 initial belief that wo
player 2’s discount factor is 9,

Player 1’ share from an agreement in the theoretic solution z7
Player 17 average experimental shares from agreements 1
of 100 runs of the game setting

Player 2’ share from an agreement in the theoretic solution 3
Player 2’ average experimental shares from agreements T
of 100 runs of the game setting

The bargaining time for reaching agreements by the

theoretic solution t*
The average bargaining time for reaching

experimental agreements of 100 runs of the game setting ¢
Deviation of 100 z;s of the game setting o
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Table 2: 275, x7s and os. d; = 0.1.
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0.1134

0.0208

# 53

0.5

0.9
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0.9

0.8
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0.0202

4 58

0.5

0.9
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0.9
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0.3171
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0.1113

0.0196

Table 3: 235, x7s and os. d; = 0.5.
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0.9

0.9

0.8940
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0.1
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0.1

0.3

0.5985
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0.9599

0.5985

0.4830
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0.9]0.9

0.1

0.5

0.7364

0.5263

0.9736

0.7364

0.4779

0.0309

# 84

0.9]0.9

0.1

0.7

0.8170

0.5263

0.9817

0.8170

0.4792

0.0325

# 85

0.91]0.9

0.1

0.9

0.8699

0.5263

0.9870

0.8699

0.4817

0.0295

# 86

0.91]0.9

0.8

0.1

0.5263

0.5263

0.2724

0.0905

0.4817

0.0301

4 87

0.9]0.9

0.8

0.3

0.5263

0.5263

0.3991

0.2488

0.4825

0.0322
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0.9]0.9

0.8

0.5

0.5263

0.5263

0.5064

0.3830

0.4864

0.0313
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0.9]0.9

0.8

0.7

0.4980

0.5263

0.5984

0.4980

0.4818
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0.9]0.9
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0.9

0.5978

0.5263

0.6782

0.5978

0.4780

0.0278

Table 4: 275, x7s and os. d; = 0.9.




Exp Game Setting |PBE |FExperimental
No. 51 ‘ (52 ‘ (Sé ‘ 0% t* E
#1101]01[02)01 0 0.00
#2101]0110203| 0 0.00
#3101]0110205| 0 0.00
#4101(0110207] 0 0.00
#5101(01102109| 0 0.00
#601(01]0901| 0 0.00
#7101]0110903| 0 0.00
#8101]0.110905| 0 0.00
#9101(0110907| 0 0.00
#10/0.1]0.1109109| 0 0.00
# 1110105104103 0 0.04
# 1210105104101 O 0.04
#13/0.1]05/04 105 0 0.05
# 14/ 0105104107 0 0.05
#15/0.1(05]04 (09 1 0.05
# 16/ 0.1 10.5/0.9 (03| 0O 0.05
# 170105109101 0 0.05
# 18/ 0.1 105109 (05| 0 0.05
#19/0.1105/109 (0.7 0O 0.05
# 2001105109109 0 0.05
#21101(09]01/01] 0 0.34
#22/01(09]01(03 1 0.35
#23/01(09]0.105 1 0.40
#24/01109]0.107 1 0.31
#2501(09]01(09 1 0.48
#26/ 010908101 0 0.41
#2701]09]0803| 0 0.43
# 28 0.1109/08]05| 0 0.37
#2901(09]0807 1 0.36
# 30/ 0.1{09/08 (09| 1 0.41

Table 5: ts and t*s. §; = 0.1.




FExp | Game Setting |PBE |Ezxperimental
NO. (51 ‘ (52 ‘ (Sé ‘ wWo t* E
# 31 0.5/ 0.1] 0.2] 0.1] O 0.00
#32/05/0.110.2|03| 0O 0.00
#33/05/0.110.2|05] 0 0.00
#34/05/0.110.2]|0.7| O 0.00
#35/05/0.110.2[09| 0 0.00
#36/05/0.1/09]0.1] 0 0.00
#3705/0.1[09]03| 0 0.00
#38/05/0.1[09]05| 0 0.00
#39/05/0.1[09]0.7| 0O 0.00
#40/0.5/0.1109]09| 0 0.00
#41105/0.5(04]0.1] 0O 0.05
#42/105/0.5(04]03] 0O 0.05
#43/05/05[04]05] 0 0.05
# 44105050407 0O 0.05
#45/0.5105(04(09] 1 0.05
#46/0.5/0.5/09]0.1| 0O 0.05
#4705/0.5/09]03| 0 0.04
#48/0.5/0.5/09]05] 0 0.05
#49/05/0.5(09(0.7] 0O 0.05
#50/05/05[09]/09| 0 0.05
#51105/09(0.1]0.1| 0O 0.20
#52/05109(0.1]0.3] 1 0.22
#53/0.5109(0.1]05] 1 0.23
#54/0.5109(0.1]0.7] 1 0.24
#55/0.5109(0.1{09] 1 0.23
#56/05/09]0.8(0.1] 0O 0.22
#5705/09/0803| 0 0.29
# 58/0.5/09]/08|05] 0 0.29
#59/0.5109(08[0.7] 1 0.28
#60/0.5/09[08[09] 1 0.23
Table 6: ts and t*s. §; = 0.5.




FExp | Game Setting |PBE |FExperimental
NO. 51 ‘ 52 ‘ (Sé ‘ wo t* E
#6109 0.1 0.2] 0.1 0O 0.00
#62/09/0.1/02]03| 0 0.00
#63/09/0.1]02]05| 0 0.00
#64/09/0.1|021]0.7| O 0.00
#65/09/0.1102(09| 0 0.00
#66/09/0.1/09 (0.1 O 0.00
#6709/0.1109]03| 0 0.00
#680.9/0.1109]05| 0 0.00
#69/09/0.11091(0.7| 0 0.00
#70109/0.1109]09| 0 0.00
#7109/05[04]0.1| O 0.32
#72/09105|04103| 0O 0.22
#73109/05]04]05| 0 0.26
#74/09105[04 107 0O 0.22
# 75109105104 ]09| 0 0.32
#76/09/05]09(01| 0 0.28
#77091051091(03| 0 0.28
# 7809105109 ]05| 0 0.34
#79/09105[09 0.7 O 0.25
#380/0.9/10.51091(09| 0 0.33
#81109/09|0.1]0.1| O 3.99
#82/09/09(0.1(03| 1 3.74
#83/09/109]0.1{05| 1 3.64
#84/09109(0.1 (0.7 1 3.75
#85/09/109]0.1{09| 1 3.98
#86/09/109]0.8[0.1| 0 3.76
#8709/109]0.8[03| 0 3.92
# 88091090805 0 3.73
#89/09/109]0.8(0.7| 1 3.78
#90/09/09]0.8({09| 1 3.83

Table 7: ts and t*s. §; = 0.9.




